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SECTION-I
GENERAL KNOWLEDGE & CURRENT AFFAIRS

. What is the number of States in the Union of

India?
a) 28
b) 32
c] 26
d) 27

. Ashoka was famous for

a) His vast empire

b) Preaching ahimsa

c) Following the path of Buddha
d) All of the above

. The revolt of 1857 started from

Delhi
Jhansi
MMeerut
Agra

a)
b)
c)
d)

. The first Indian Governor General was

a} W.C. banerjee
b) C. Rajgopalachari
c} Dr. Zakir Hussain
d] Manek Shaw

. Who is known as 'Frontier Gandhi'?

a) Mahatma Gandhi

b} Maulana Azad

¢} Khan Abdul Gaffar Khan
d) Lala Lajpat Rai

. Tsunami is caused by

a) Plate tectonics

b} Underwater ridges

c) Underwater volcanic activity
d} Pressure from earth's core

. Why is ozone layer important?

a) It absorbs greenhouse gases

b} It protects earth from ultraviolet rays

¢} It maintains earth’s temperature

d) It is a buffer against extra-terrestrial hazards

. With which country does India share the longest
border?

a) Bangladesh

b} China

c) Nepal

d) Pakistan

10.

s

12,

5

14.

15.

Tube lights used for lighting purpose in homes
are called?
a)Laser light
b) MNeon light
¢) Mercury Light
d) Fluorescent light
¥

Treatment of Dengue fever may require:
a) Platelet transfusion

b} Antibiotic

c) Administration of propanolol

d) All of the above

In eye donation, which one of the following
parts of the donor's eve is utilized?

a) lIris

b} Lens

c) Caornea

d) Retina

The blackboard seems black because it
a) Reflects every colour

b) Does not reflect any colour

c) Absorbs black colour

d) Reflects black colour

Which of the following refers to the memory in
your computer?

a) RAM

b) ROM

c) USB

d) LAN

A saved document is referred to as
a) File

b) Word

c) Folder

d) Project

A malware programme which harms a
computer is called

a) Bacteria

b) Virus

c) Error

d) Bug
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isin

a) Geneva

b) Rome

c) Washington
d} Berne

17. 'Congress' is the Parliament of
a) India
b) Britain
c) Russia
d) United States

18. “The Merchant of Venice” is written by
a) William Shakespeare
b) Somerset Maughan
c) Charles Dickens
d) Jonathan Swift

19. World Population Day is celebrated on
a) May1
b) Junes
c) July 11
d) September 5

20. Where is Secretariat of SAARC located?
a) Colombo
b) Islamabad
c) New Delhi
d) Kathmandu

21. Which of the following is the most populous
city of India according to the census 20117?
a) Kolkata
b) Delhi
¢} Bhopal
d) Mumbai

22. On 17 January, 2014, who set the record of
fastest ODI century?
a) Shahid Afridi
b) Glen Maxwell
c) Corey Anderson
d) Virat Kohli

23. 'Dialysis' is done to cure the ailment of
a) Kidney
b) Liver
c) Heart
d) Lungs

16. The headquarters of World Health Organization

24. The famous Sun Temple is located at
a) Bhuvaneshwar
b) Mysore
c) Ranchi
d) Konark

25. CNG stands for
a) Compressed Natural Gas
b) Condensed Natural Gas
c) Conjained Natural Gas
d) Cooled off Natural Gas

26. The Commonwealth Games 2014 would be
held at
a) Glasgow
b) Seoul
c) Perth
d) Goldcoast

27. Sachin Tendulkar has been conferred with
which of the following awards in 20147
a) Padma Bhushan
b) Padma Vibhushan
¢ ) Bharat Ratna
d) Arjun Award

28. The winner of French Open 2013 is
a) Roger Federer
b) Novak Djokovic
c) Andy Murray
d) Rafael Nadal

29. The Buddh International Circuit is situated at
a) New delhi
b) Greater Noida
c) Pune
d) Mumbai

30. Femina Miss India 2014 is
a) Koyal Rana
b) Lopamudra Raut
c) Jhataleka Malhotra
d) Navneet Kaur Dhillon
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SECTION-I
ENGLISH INCLUDING COMPREHENSION

Questions 31-35
Direction: Read the following passage carefully and answer the questions that follow:

Why don't | have a telephone? Not because | pretend to be wise or pose as unusual. There are two chief
reasons; because | don't really like the telephone and because | can still work and play, eat and sleep
without it. Why don't | like the telephone? Because | think it is a pest and a time waster and it can create
suspense and anxiety, as when you wait for an expected call and it does not come. It can also causeirritating
delay, as when you keep ringing a number that is always engaged. As for speaking in a public telephone
booth, it seems to me really horrible. You would not use it unless you were in a hurry, and because you are
in a hurry, you will find other people waiting before you. When you do get into the booth, you are half
suffocated by the stale, unventilated air; and by the time you have begun your conversation, your back is
chilled by the cold looks of somebody who is moving about restlessly to take your place.

If you have a telephone in your house, you will admit that it tends to ring when you least want it to ring;
when you are asleep, or in the middle of a meal, or when you are just going out, or when you are in your
bath. Are you strong minded enough to ignore it, to say to yourself. “Ah well, it will be all the same in
hundred years time”. You are not. You think there may be some important news or message for you. Have
you never rushed dripping from the bath, or chewing from the table or dazed from bed, only to be told that
you are a wrong number? If your telephone rings and you decide not to answer it, then, of course, you will
have to listen to an idiotic bell ringing and ringing in what is supposed to be the privacy of your own home.

31. The author does not have a telephone because: c) Things will remain the same for hundred years
a) He pretends to be wise to come.
b) He poses as unusual d) One should be strong minded.
c) He would prefer to do something else
d) He thinks that it can create suspense and 35. The author thinks that if you have a telephone
anxiety in your house:
a) It is very convenient.
32. The author's opinion about a telephone is that: b) Itis cheaper
a) Itisapest c) It tends to ring when you least want it to
b} Itisatime waster ring.
c) It may cause irritating delay d) It conveys to you important news and
d) All of the above messages.

33. The author hates speaking in a public telephone Questions: 36-40

booth because:

a) He finds it costlier

b) He is suffocated by stale, unventilated air
c) Others look at him angrily

d) The other side may not know your number

Direction: In the following questions, out of the
four alternatives, choose the one which
expresses the correct meaning of the given
word.

36. Indolent
34. "Ah well, it will be all the same in hundred years a) Active
time”. This sentence means: b) Lazy
a) Nothing is going to change if you don't answer c) Gloomy
the telephone bell. d) Nervous

b} Things have not changed for the past hundred
years.
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37. Muse
a) To think something
b} To speak loudly
c} To walk slowly
d) To quarrel
38. Detest
a) Appreciate
b) Appeal
c} Enjoy
d) Dislike

39. Adept
a) Skillful
b) Wealthy
c} Arrogant
d) Ugly

40. Appropriate

a) Perfect

b) Proper

c) lrrelevant

d) Insufficient

Questions: 41-45
Direction: Given below are the sentences in
which two spaces have been left blank. Choose
from among the given choices, the pair of words
which would fit the two blanks in the given
order:

41. Carried away by the effects of the
experimental medication, the patient his
desire to continue as a subject for as long as he
could.

a) Supplementary, announced.
b) Smoothening, proclaimed.
c) Satisfying, repeated.

d) Salutary, reiterated.

42. As several shops have across the street,

the old directory is

a)] Relocated, obsolete.

b) Moved, wasteful.

c) Transferred, useless.

d) Travelled, redundant.

43. The imposed for non-payment was too
for it to bring in improvement in
collection.
a) Fine, severe.
b) Toll, harsh.

45.

. The industrial workers

c) Damage, cruel.
d) Penalty, law.

a fair for

their work.

a) Requested, price.
b) Sought, salary.

c) Demanded, wage.
d) Asked, pay.

If there is nothing to absorb the energy of sound

waves, they travel on , but their intensity
as they travel further from their source.

a) Erratically, mitigates.

b) Eternally, alleviates.

c) Forever, increases.

d) Indefinitely, diminishes.

Directions: (Question Nos. 46 & 50) Choose the

46.

47.

49.

Correct option to fill the blanks.

| like to watch ................. play badminton in my _
garden.

a) them

b} they

c) she

d) he

She practised hard ................. she could
perform well.

a) unless

b) hence

c) sothat

d) for

. What ............. In Delhi yesterday?

a) you are doing
b} did you do

c) you did

d) did you

She asked me how big ..o .
a) in your apartment

b) my apartment was

c) was my apartment

d) in my apartment

https://exams.freshersnow.com/




50.

Exceeding speed limit and ... safety d) Intelligent
belts are two common causes of automobile

deaths.
a) notto wear
b) don't wear

¢} not having worn

d) failing to wear

Questions: 51-55

51.

52

ot

54.

55.

Direction: In the following questions, out of the
four alternatives, choose the one which can be

substituted for the given sentence.

A person who cannot be corrected.
a) Incurable

b) Incorrigible

c) Hardened

d} Invulnerable

OUne who does not believe in the existence of
God.

a) Atheist

b) Insane

c) Alien

d) Sycophant

A medicine which counteracts death.
a) Antibiotic

b) Antipyretic

c) Antidote

d} Germicide

A child whose parents are dead.
a) Orphan

b) Alone

c) Aloof

d) Secluded.

A person who spends as little money as possible,

a) Spendthrift
b) Miser

c) Philanthropist
d) Dictator

Questions: 56-60

Direction: In the following questions, find out

the correct spelling.

56.a) Intelligant

b) Inteligent
c) Intteligent

57.a) Univarsity
b) Univercity
c) Unniversity
d) University

58.a) Aplicable
b) Apllicable
c) Applicavie
d) Applicable

59.a) Truely’
b) Truelly
c) Truly
d) Trully

60. a) Different
b) Diferent
c) Differant
d) Differrent

e —————
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SECTION-III
MATHEMATICS

61. Which of the following is a prime number?

62.

63.

64.

65.

66.

67.

a) 9
b) 8
cl) 4
d) 2

What is the largest 4 digit number exactly
divisible by 887

a) 9944

b) 9999

c) 9988

d) 9900

Insert the missing number. 12, 25, 49, 99, 197,
395, (...)

a) 789

b) 1579

c) 722

d) 812

A man has some hens and cows. If the number of
heads be 48 and the number of feet equals 140,
then the number of hens will be

a) 22
b) 24
c) 26
d) 20
Ifp-g=6andp’ +q = 116, what is the value
of pq?
a) 30
b) 40
c) 20
d) 50

A man has Rs. 312 in the denominations of one-
rupee notes, five-rupee notes and twenty-rupee
notes. The number of notes of each denomination
1s equal. What is the total number of notes that he
has?

a) 36

b) 24

c) 28

d) 32

Two numbers A and B are such that the sum of 5%
of A and 4% of B is two-third of the sum of 6% of
Aand 8% of B. Find the ratio of A &B.

68,

69.

70.

71.

T ol

73.

i)
bt
L
L5 R B v

A fruit seller has some oranges. He sells 40%
oranges and still has 420 oranges. How many
oranges he had originally?

a) 420

b) 700

c) 220

d) 400

A student has to obtain 33% of the total marks to
pass. He got 125 marks and failed by 40 marks.
The maximum marks are

a) 600

b) 500

c) 400

d} 300

The cost price of 20 articles is same as the selling
price of x articles. If the profit is 25%, find out the
value of x

a) 15

b) 25

o 18

d) 16

If selling price of an article is doubled, the profit
triples. What is the profit percent?

a) 100

b) 50

c) I5

d) 120

A vendor bought bananas at 6 for a rupee. How
many for a rupee he must sell to gain 20%?
a) 3
b) 4
e} 5
d) 6

A car traveling with 5/7 of its actual speed covers
42 km in 1 hr 40 min 48 sec. What is the actual
speed of the car?

a) 30 km/hr

b) 35 km/hr

c) 25 km/hr

d) 40 km/hr




74. A can finish a work in 18 days. B can finish the

same work in 15 days. B worked for 10 days
and left the job. How many days does “A” alone
need to finish the remaining work?

a) 8

b) 5

c) 4

d) 6

75. A train is running at a speed of 40 km/hr and it

crosses a post in 18 seconds. What is the length
of the train?

a) 190 meters
b) 160 meters
c) 200 meters
d) 120 meters

76. Anil and Mohan invest Rs.21000 and Rs.17500

respectively in a business. At the end of the
year, they make a profit of Rs.26400. What is
the share of Anil in the profit?

a) Rs.14400

b) Rs.26400

c) Rs.12000

d) Rs.12500

77. Father is aged three times more than his son Sunil.

After 8 years, he would be two and a half times of
Sunil's age. After further 8 years, how many times
would he be of Sunil's age?

al 4 times

b) 5 times

c} 2 times

d) 3 times

78. A is two years older than B who is twice as old as

F9.

C. The total of the ages of A, B and C is 27. How
oldisB?

a) 10

b) 9

c) 8

d) 7

In a cricket match of 50 overs, the run rate was
only 3.2 for the first 10 overs. What should be the
run rate for the remaining 40 overs to reach the
target of 282 runs?

a) 6.25

b) 5.5

c) 74

d) 5

80. The average weight of A, B and C is 45 kg. If the
average weight of A and B be 40 kg and that of B
and Cbe 43 kg, what is the weight of B?

a) 31kg
b) 28 kg
c) 32kg
d) 30kg

81. An error of 2% in excess is made while measuring
the side of a square. What is the percentage of
error in the calculated area of the square?

a) 4.04 %
b) 2.02 %
c) 4%
d) 2%

82. A man's speed with the current is 15 km/hr and
the speed of the current is 2.5 km/hr. The man's
speed against the current is:

a) 8.5 km/hr
b) 10 km/hr.
c) 12.5 km/hr
d) 9 km/hr

83. A boat can travel with a speed of 22 km/hr in still
water. If the speed of the stream is 5 km/hr, find

the time taken by the boat to go 54 km
downstream

a) 5 hours
b) 4 hours
c) 3 hours
d) 2 hours

84. A can run 224 meter in 28 seconds and B in 32
seconds. By what distance A beats B?
a) 36 meter
b) 24 meter
c) 32 meter
d) 28 meter

85. A sum of money amounts to Rs.9800 after 5 years
and Rs.12005 after 8 years at the same rate of
simple interest. The rate of interest per annum is
a) 15%

b) 12%
c) 8%
d) 5%




SECTION -lv

LOGICAL REASONING
Questions: 86-90 92. Entrance: Exit. Loyalty: ?
Direction: Find out the missing a) Falsehood
number/alphabet/series. b) Dishonesty
c) Truth
86.6,11,21,36,56, d) Treachery
a) 66 i
b) 70 93. Intimate: Unfamiliar: : Interested: ?
c) 81 a) Friendly
d) 85 b) Indifferent
c} Cautious
87.3,7.153165 d) Hostile
a) 90
b) 115 94. Coffee: Caffeine : Tobacco: ?
c) 127 a) Tannin
d) 132 b) Novocain
c) Alexin
88.Z X, TN, d) Nicotine
a) E
b) F 395. Horse: Stable : : Dog: ?
c) G a) Kennel
d) H b) Barn
¢} Den
89. IYD, LVG, 0SJ, RPM, o d) Street
a) AsQ
b) umP 96. In certain code, FAN is written as 21, 26, 13
c) UNQ then DEAD will be written as
d) TMQ a) 23,26,22, 23
b) 22,23, 26,22
90. AOP, CQR, EST, GUvY, c) 23,22, 26,23
a) vz d) 22,623,625, 22
b) HWX
c) IWX 97. Gopal said, pointing to Govind “ His father is my
d) Jwx father's only son”. How is Gopal related to

Questions: 91-95

91.

Direction: The relation between the first two
words is given, from the options find 2 word
which bears a similar relation with the third
word.

Air: Atmosphere: : Water: ?
a) Island
b) Earth
¢) Ocean
d) Drop

98.

Govind?

a) Grandfather
b) Grandson
c) Son

d) Father

From the given alternatives, select the word
which cannot be formed using the letters of
the given word. 'EXAMINATION'

a) ANIMATION

b) ANIMAL

c) EXAM

d) NATION
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99. From the given alternatives select the word
which can be formed using the letters of the
givenword. 'CORRESPONDING'

a) CORRECT
b) DISCERN
c} REPENT

d) RESPONSE

100. If you can write COLLEGE as DPMMFHF, how
can you write SCHOOL?
a) TDIPPM
b) DITPMP
c) RBGNMNK
d) CLASS

101. K is L's wife's husband's brother. M is the sister
of K. Nis the sister of L. How is K related to M?
a) Sister-in Law
b) Brother
c) Daughter
d) Wife

102. 6students A, B, C, D, Eand Fare sitting. Aand B
are from Mumbai, rest are from Delhi. Dand Fare
tall but others are short. A, C and D are girls,
others are boys. Which is the tall girl from Delhi?
a) F
b) D
cl E
d) ¢

103. Pramesh is heavier than Jairam but lighter than
Gulab. Anand is heavier than Gulab. Mohan is
lighter than Jairam. Who among them is the
heaviest?

a) Jairam
b) Gulab
c) Anand
d) Pramesh

104. If day before yesterday was Tuesday, the day
after tomorrow will be
a) Monday
b) Wednesday
c) Friday
d) Saturday

105. Which of the following words will appear fourth
in the dictionary?
a) Sanctity
b) Sanatorium
c) Sanskrit
d)} Sanction

|

Questions: 106-110

Direction: Answer the guestions based on the
following information.

Five adults A, B, C, D and E are sitting in a
provision store. In this group, there is one
Manager, one Accountant, one Supplier of
provisions. The Accountant, who has a child,
earns least money. A, who is married to C's sister,
earns more than the Manager. D' is an unmarried
lady and does not do any work. There is one
married couple in the group of which B’ is the
husband. E' is the brother of C' and is neither a
Supplier nor an Accountant. No lady is a Supplier
or Manager. C' is neither a Supplier nor an
Accountant.

106. Whao is Accountant?

a) A
h) B
cj C
d) D

107. Who is Supplier?

a) A
b) B
c) €
d) D

108. Who is the wife of B?

a) A
b) B
c) C
d D

109. Who is earning the highest?

a) A
b) B
c) C
d) D

110. Who is the sister of C?

al A
b) B
cy e
d) D
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111. The Constitution of India was framed in
a) 2 years, 10 months, 25 days
b) 1vyear, 11 months, 18 days
c) 1year, 10 months, 18 days
d) 2 years, 11 months, 18 days

112. Who was the Chairman of the Drafting
Committee of the Constituent Assembly?
a) B.R. Ambedkar
b) C. Rajagopalachari
c) Rajendra Prasad
d) Jawaharlal Nehru

113. The State of Jammu and Kashmir was sccorded
special status under
a) Article 356 of the Constitution
b) Article 370 of the Constitution
c) Articles 356 and 370 of the Constitution
d) None of the above

114. The Indian Constitution contains
a) 432 Articles
b) 399 Articles
c) 395 Articles
d) 360 Articles

135 Bye-law making power granted to the executive
by the Legislatureis called
a) Delegated legislation
b) Colourable legislation
c) Special legislation
d) Supreme legislation

116. Who is the head of the State as per the
Constitution of India?
a) The Prime Minister of India
b) The President of India
c) The Parliament of India
d) All of the above

117. Who can file Public Interest Litigation?
a) Any person
b) Lawyers only
c} A Company
d) None of the above

SECTION-V
LEGAL APTITUDE AND LEGAL AWARENESS

118. To whom does the President of India submits
his resignation?
a) The Prime Minister of India
b) The Chief Justice of India
¢} The Vice-President of India
d) The Speaker of Lok Sabha

119. A pérson who files a suit in a court of law is
called
a) Applicant
b} Complainant
c) Defendant
d) Plaintiff

120. An agreement which is not legally enforceable
is called
a) Voidable agreement
b} Void agreement
c) llegal agreement
d) Valid contract

121. Which of the following gives the buyer right to
reject goods, repudiate the contract and claim
damages?

a) Warranty

B) Guarantee

c) Garnishee

d) None of the above

122. Anominal sum given as a token, that the parties
are eager about concluding the sale is called
a) Earnest money
b) Advance
c) Interest
d) Solatium

123 The person making the proposal for the pu rpose
of making a contractis called
a) Offeror
b} Offeree
c) Participator
d) Principal
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124. Can a person who is usually of unsound but
occasionally of sound mind, make a contract?
a) Yes, he can always make a contract
b) Yes, but only when he is of sound mind
c} No, he cannot make a contract
d) MNone of these

125. A doctor has a
patient
a) Moral
b) Customary
c) Statutory
d} Fiduciary

relationship with his

126. The rule of Evidence law that a person cannot
deny the statement which he had previously
made is called
a) Wavier
b) Denial
c) Estoppel
d) None of the above

127. “An eye for an eye and a tooth for a tooth”
relates to theory
a) Reformative
b) Deterrent
c) Retributive
d) Preventive

128. Ossification test is done to determine
a) Age
b) Sex
c) Blood group
d) Finger print

129. English Law is also known as
a) Civil law
b) Conflict of laws
c) Local laws
d) Common law

130. The Wit by which a High Court or the Supreme
Court can secure the body of a person who has
been imprisoned is called
a) Mandamus
b) Habeas Corpus
¢) Quo Warranto
d) Prohibition

131. The number of Writs that can be prayed for
and issued by the Supreme Court and/or a High
Court is
a) 3
b) 4
¢} 5
d) 6

132. The Constitution of India borrowed the
principle of the Directive Principles of State
Policy ffom the Constitution of
a) Ireland
b} usa
c) UK
d) Canada

133. What does 'adjudication’ mean?
a) A decision given by an Umpire
b) Mediation
c) Decision given by a Court
d) None of the above

134. 'Alibi' means
a) Being elsewhere
b) Being absent minded
c) Being active
d) None of the above

135. Right 'in rem' means
a) Right against a particular person
b) Right against ones neighbour
c} Right against a Company
d) Right against the whole world

136. In law, 2 man is presumed to be dead if he has
not been heard of for
a) 7years
b) 9years
c} 10years
d) 12 years

137. An insolvent person is
a) Unable to walk
b} Unable to speak
¢) Financially weak
d) Bankrupt

138. 'Mens rea’ refers to
a) Mental element in committing a crime
b) The act done in committing a crime
c) Both, the mental element and the act done
d) None of the above
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139. 'A’ finds some
knowing to
up. What offen
a) Criminal
b) Theft
¢) Criminal

140. A written statement by a person who signs and
swears byit befiore a Court is called
a) Plaint
b) Affidawit
c) Affirmation
d] Document

Questions: 141-145
Direction: In the following questions, choose
the appropriate meaning.

141. Provoke
a) Incline
b) Persuade
c) Encourage
d) Instigate

142. Interpret
a) Explain
b) Hide
c) Elaborate
d) Support

143. Frivolous
a) Lacking seriousness
b) Enthusiastic
c) Authentic
d) Irregular

144. Adjourn
a) Proceed
b) Accelerate
c) Suspend
d) Release

145. Suo Motu
a) On application of a person
b) On application of police
c) On its own
d) None of the above

146. The name of our country as per our
Constitution is
a) India
b) Bharat
¢) Hindustan
d) Bharatvarsh

147. The onus of proving a criminal case rests on
the
a) Accused
b) Judge
c) Victim
d) Prosecution

148. Capital Punishment means
a) Death sentence
b) Life imprisonment
c) Solitary confinement
d) Minimum possible punishment

149. The Committee which was constituted to
recommend amendments to the Criminal Law
s0 as to provide for enhanced punishment for
persons accused of committing sexual violence
against women was headed by
a) Justice Mudgal
b) Justice M. Katju
c) Justice Balakrishnan
d) Justice 1.5. Verma

150. Who is the Chairman of the Law commission
of India?
a) Justice A.P. Shah
b) lustice D.K. Jain
c) Justice K.G. Balakrishnan
d) Justice V.N. Khare
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